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Find the slope and y-intercept of each equation.
Ly=-2x+1 2.y=—%x+2
4y=5c+8 5.y=2%x+1

T.y=-x-1 8.y=-07x—-9

3.y

9.y
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Write an equation of a line with the given slope and y-intercept.
0.m=3b=3 Wom=30b=3

B.m=0b=1 14.m=-1,b=-6
16.m = 0.3,b = 4 17.m = 0.4,b = 0.6
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Write the slope-intercept form of the equation for each line.

23. 24.

25. y 26. 27.
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Use the slope and y-intercept to graph each equation.

28, y=Jx+4 29.y=3x-1 30.y=-S5r+2 3ly=2x+S5

Ry=x+4 Boy=-x+2 My=4r-3 35y = —3x

36.y=3x-3 Ty=-3x+2 By--%+d 30.y--05r+2
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